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Chemistry I (Organic): Stereochemistry 

TUTORIAL PROBLEMS - ANSWERS 

Prof Alan Spivey; Office: 835 C1; e-mail: a.c.spivey@imperial.ac.uk; Tel.: 45841 

 
NB. 3-D Jmol models of the molecules in this tutorial sheet are available, courtesy of Prof. 

Rzepa @ http://www.ch.ic.ac.uk/local/organic/tutorial/stereo/  
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NB. 'ghost' atoms, as defined in the notes, are shown in brackets on the        
       structure and underlined in the 'priority summation' (in blue)
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NB. 'follow the highest priority 'connectivity' path until a decision can be made
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2) (a) 2,3-dichlorobutane: 
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 (b) 2-bromo-3-chlorobutane: 
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